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@ LB L o Nadeem 1 day ago g Unnati Bhatnagar 1 day ago
w Thank-you madam for this Amazing Class Session of today.. . . = @ Homework W 3 -fi" Homework:-

And @ Ans 1:-OptionC :-R :

My Answer for today's Homework are like- Q@ Ans 2 - Option C - One Pair C)R-(DRAG)

1). Option C =R... % Thank you Mam & £ £ C) one

Read more @y &GP  REPLY b &P  REPLY

@y %P  REPLY N

v (&=« 1 REPLY v (%)« 1 REPLY

g
w (™)« 1 REPLY

o VT D BT - (e 20 e Kiran Sharma 10 hours ago
debasish chakraborty 1 day ago Homework .
Ans no:15=option C (drag)

Homework : Ans1:-option c:-r b
1.C Ans:- option c:- one pair Ans no:16=option C (one).
2C Thank you Mam oGP REPLY

Thank you mam. Awesome session.

@b SR  REPLY

g
w (™)« 1 REPLY

Rahul Bhakat 1 day ago

1) Option C (DRAG)
2) Option C (one)
Thank you ma'am!

@ GP  REPLY

o
w (7« 1 REPLY

b GP  REPLY

P Y
v [« 1 REPLY

simran Lalwani 1 day ago

H. W Answer:

1.option C

2.option C (one pair RM)
Tysm mam nice session
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Fom
v [+ 1 REPLY

LA
v (™)« 1 REPLY

Madhu yadav 1 day ago

Homework -
cC

@b SP  REPLY

L
v (%)« 1 REPLY
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Six people Tarun, charu, Visakha, Monika, Anko and Viraj V6 ART U], T, ﬁ'Q'I'IET, /o1, 3(h) 3R
are born in different years with the current base is taken fa_TST 3reT- et 9wl & aET [4Y % Gﬁ?' IdH 3TYR
as 2018. None of them is older than 90 years old. They like 2018 & U H foram an % | 399 I ﬁ'sﬁ Wooad @
different fruits apple, Orange, Grapes, Cherry, Mango, 3fferep RIAT qﬁ%l 3% SICT-3e Bl UG % @ﬁ,
Banana Note- The last two digits or reverse of the last two LR SR, a'\Pf, 3HTH, &dl Ale- forg aafed s
digits of the year in which a person is born can be the age Eﬁ?IT é, 39 94 & 3ifaw E(Pf 3 a7 Sifaw E;Pf 3hi b
of some other person. (Like A is born in 1943 and age of B faudia forsdt o= afaa &1 3{1Yg E?f gl % I (ﬁﬁ A
is denoted by the last two digits of the birth year of A. T o 1943 H g3l % 3 B B ST A FTHIY B
Then B’s age will be either 34 or 43). Tarun was born in the 3ifaw 33f 3Pl I W&h Eﬂ?ﬂ%l a9 B B angma’r
year 1983. The difference of age between Tarun and Charu 344743 EﬁTﬂ) | 0T BT S-H a9 1983 H 31T UT|
is 21 years. Visakha age is sum of the digits of the year in aoU1 3R IS B ST P] 3dR 21 ﬁ%l
which Charu was born. The one who likes mango is 5 years WWG’&% WWW%W q[o PhT o[ H
elder to Visakha. Anko age is either the last two digits or g3IT UT| 3ITH UG P qraT i fa=RaT 9 5 a9
reverse of the last two digits of the year in which the dST %I 3h1 ST g1 dr 3ifaw 33[ 3@% I3 ay &
person who likes mango was born. Only one person is &rﬁn 33f 3l P AU % [ 3T WWHT?[
elder to Anko and Visakha likes apple. The one likes cherry HfT BT S+ g3l UT| Had Udh Hfad 3idl A dSI
is just younger to Anko. The difference between Viraj’s and % 3R fazmRaT 1 A9 g % | <Rt g CIEEIGI
the one who likes cherry is 24 years. The one who likes i 3B A 3P BieT %I T SR S mmﬁ
banana was born in an even year. The one who likes aTel & did BT 3idR 24 EI'&%I de Afad ford bar
orange is younger to the one who likes grapes both in odd 13|'\‘:|'c¢"%, BT ol H Wﬂ'ﬂfﬁ'g'\?ﬂél LR T\‘I'Q"ﬂﬂef
number of years. Monika is younger than Viraj. drdl TJEI'%[, T:Qﬁ:ﬁ ﬁ aul # 3 TG P aTed Afad
%‘fﬁﬁ%i T-|A|"?1'?p'|', R BId %i
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Six people Tarun, charu, Visakha, Monika, Anko and Viraj
are born in different years with the current base is taken
as 2018. None of them is older than 90 years old. They like
different fruits apple, Orange, Grapes, Cherry, Mango,
Banana Note- The last two digits or reverse of the last two
digits of the year in which a person is born can be the age
of some other person. (Like A is born in 1943 and age of B
is denoted by the last two digits of the birth year of A.
Then B’s age will be either 34 or 43). Tarun was born in the
year 1983. The difference of age between Tarun and Charu
is 21 years. Visakha age is sum of the digits of the year in
which Charu was born. The one who likes mango is 5 years
elder to Visakha. Anko age is either the last two digits or
reverse of the last two digits of the year in which the
person who likes mango was born. Only one person is
elder to Anko and Visakha likes apple. The one likes cherry
is just younger to Anko. The difference between Viraj’s and
the one who likes cherry is 24 years. The one who likes
banana was born in an even year. The one who likes
orange is younger to the one who likes grapes both in odd
number of years. Monika is younger than Viraj.
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Who among the following likes Banana?
(a) Anko (b) Tarun (c) Charu (d) Visakha (e) none
of these

Person | Birthyear | Age | Fruit
Viraj 1938 80 | Banana
Anko 1959 59 | Grapes

Charu 1962 26 | Cherty | \Who among the following is the eldest?
Tarun 1983 35 | Orange | | (a) Anko (b) Tarun (c) Charu (d) Vishakha (e)
Monika 1995 23 | Mango none of these

Vishakha 2000 18 | Apple

Which of the following combination is true? (a)
Anko- 1959-mango (b) Viraj- 1983- apple (c)
Charu-1962-cherry (d) Monika-1995- grapes (e)
none of these
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Person | Birthyear | Age | Fruit Which of the following statement is correct?
Viraj 1938 80 | Banana (a)Anko is three years older than the one who
likes cherry

Anko 1959 29 | Grapes (b) Viraj is the eldest

Charu 1962 | 36 | Cherry (c) Anko born in 1959

Tarun 1983 35 | Orange (d) Monika is born before Visakha
Monika 1995 23 | Mango (e) All are correct

Vishakha 2000 18 | Apple

In which of the following year Monika was born?
(a) 1995 (b) 2000 (c) 2012 (d) 2007 (e) None of
these
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(a) If the data in all the statements, I, II and III even
together are not sufficient to answer the question.

(b) if the data in Statement I and III are sufficient to
answer the question, while the data in Statement II are
not required to answer the question.

(c) If the data in statement II and III are sufficient to
answer the question, while the data in statement I are
not required to answer the question.

(d) if the data in Statement I alone or in Statement II
alone or in Statement III alone are sufficient to answer
the question.

(e) 1f the data in Statement I and II are sufficient to
answer the question, while the data in Statement III are
not required to answer the question
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In which month of the year did Mohit go abroad for a wvacation?

I. Mohit correctly remembers that he went for a vacation 1in the
first half of the year.

ITT. Mohit’s wife correctly remembers that they went for a vacation
after 31st March.

ITII. Mohit remembers that he went for a vacation before 1st May.
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Are all the four friends, viz P, Q, R and S, who are sitting
around a circular table, facing the centre?

I. Q sits second to the right of S. S faces the centre. R sits on
the immediate right of both Q and S.

IT. P sits on the i1mmediate left of Q. R is not an immedilate
neighbour of P. R sits on the i1mmediate right of S.

ITI. S 1s an i1mmediate neighbour of both P and R. Q sits on the
immedliate left of P. R sits on the immediate right of Q.
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Point P is in which direction with respect to Point Q@

I. Point R 1s to the west of Point Q. Point S i1s to the north of Point Q.
Point P 1s to the south of Point S.

IT. Point T 1s to the south of Point P. Point T is 4 m from Point Q. Point P

1s 9 m from Point Q.
ITI. Point R 1s to the west of Polint Q. Polnt Q 1s exactly midway between

Point R and U. Point V 1s to the south of Point U. Polnt P 1s to the west of
Point V.
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Among V,W,X,Y and Z, seated in a straight line facing south,
who sits at the extreme end of the row?

I. W sits second to right of V. Z 1s not immediate neighbor of
Y.

IT. V sits third to left of Y. W sits on the i1mmediate right
of X.

ITI. Only one person sits between W and X
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Eight students A, B, C, D, E, F, G and H are sitting around a circle facing
to the centre of the table. How many students are sitting between C and F?

I. A 1s seated second to the right of H, who i1s seated third to the right
of D. G 1s seated immediate left of F.

IT. C 1s seated third to the right of A and is not near to E.
second to the right B.

ITI. D 1s seated second to the left of E and 1s third to right of G. C 1is
an 1mmediate neighbor of H.

FF 1s seated
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“Magazine Today Master” is written as “ 3$Q 4SD

2.5#X”

“Defence High Challenges” is written as “5SR 3.5#D

2$G//

“Response Inspiration Trial” is written as “4S$D

5.5#M 2.54#K”

What is the code for
“Interface”?

None of these

What is the code for “Article
Subscriber”?
) 4#K 6.5SH

2SE 3#C

45Q 5.5#D

b

(a
(b)

(c)

(d) 3.5#D 580
(e) None of these
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“Magazine Today Master” is written What is the code for “Quiz”?
as “ 35Q 45D 2.5#X” (a) 2SY

“Defence High Challenges” is written (b) 5#G

as “5SR 3.5#D 2SG” (c) 6#F

“Response Inspiration Trial” is (d) 7.5 $ D

written as “4$D 5.5#M 2.5#K” &) Nore of these

What is the code for
“Regional”
a) o#H

What is the code for
“Separated”?

) 5#D

) 6SG

) 4.5#C
) 7$B
)

(a
(b
(c
(d
(e

None of these
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Q16. Q17.

Statements: Statements:
W=>I>8S=D>0<M<F C>A<K<E=T<]=N
Conclusions: Conclusions:

L.D<W . N <K

[11.0<1 [I.A<]

(a) If only conclusion I follows. (a) If only conclusion I follows.

(b) If only conclusion II follows. (b) If only conclusion 11 follows.

(c) If either conclusion I or II follows. (c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows. (d) If neither conclusion I nor II follows.
(e) If both conclusions [ and 11 follow. (e) If both conclusions I and II follow.

-
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/

Seven persons M, N, O, P, Q, R and S like different movies viz.
Dangal, Dabangg, Veer-Zara, Gangajal, Airlift, Ram-Leela and
Barfi. All of them like different channels viz. Colors, Zee, Sony,
Star plus, HBO, MTV and UTV(but not necessarily in the same
order). P likes Veer-Zara. O likes Sony Channel. The one who
likes Ram-Leela likes HBO. Q likes Gangajal movie but does not
likes Colors or Star plus. The one who likes Veer-Zara likes
channel Zee. S likes Barfi but does not like Colors channel. R
likes UTV but does not like Dangal. M likes movie Dabangg.

Ard AT M, N, 0, P, Q, R 3R s 3eNT-3eRT flhed gvig Hvd @
YT | &I, T, dR-SIRT, TToTd, TR, IMH-ofdT 3NR 9w |
wqggaﬁmﬂ-&mag?ﬁm%ﬁﬁlmﬁgggﬂwﬁ
Wy, . THEIT 3R gldl (Afe st B
a’f)lpﬁé’l?-ﬁrmm%mﬁ;(ﬁﬁ%wm%lagmﬁrm
- ier UG © 9 Tadia UHg g | Q B e fhea WRig ®
Afp FaH AT TR W TG el 6 | 98 Afad ford dR-9IRT u¥e
2, I o TRig FeT 8| 5 P} TB UNG § Afpe] Hori 91e1 UNig
Hﬁ%éaﬁqﬁam%ﬁ%mmﬂﬁ%mﬁﬁmm
Tac |
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;Ersnn ::bt:egg E:;‘:‘“' Q31. Who among the following likes movie Ram-
N Ram-Leela HBO LeEIa? (a) M (b) N (C) R (d) O (e) None Of these

0 Dangal Sony

P Veer-Zara Zee

: e iy Q32. Who among the following likes channel

S Barh Star plus Star plus? (a) The one who likes Dabangg (b) N

(c) The one who likes Airlift (d) The one who
likes Barfi (e) None of these

Q33. Who among the following likes MTV? (a) P
(b) S (c) The one who likes Gangajal (d) The one

who likes Dabangg (e) None of these

=i
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Person Movie Channel Q34. Which of the following statement is true?
M Dabangg Colors (a)O likes movie Ram-Leela

. z:;;‘l“l“ :ji (b) S likes channel MTV

5 Veer7am e (c) The one who likes Dabangg likes Colors

Q Gangajal MTV channel

R Alriih UTv (d) The one who likes Airlift likes channel Star
S Barfi Star plus plUS

(e) None is true

Q35. Which among the following combination is
correct?

(a)M - HBO

(b) R— Ram-Leela
(c) Gangajal - Colors

(d) All are true
(e) None is true |
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i“_\ﬁ: - Eight persons are seating around a square table such a
Wﬁﬁ% . Gﬁ?wma%% way that four of them sit at four corners of the square
ﬁﬁﬁﬁﬂ?aﬂ'%m?ﬂ? while four sits in the middle of each of the four sides.
HﬁT@ﬁﬁﬁW%ﬂWﬁa%%| ﬁﬁ[a?aﬁﬁ'w The persons who sit at the corner sides of the table are
; - facing towards the center while the persons who sit at
mmﬂ@-aﬁaﬁaﬁ?%mﬁﬁ%qw middle side of the table are facing outside from the
H“@Wﬁwﬁaﬁ? center. They were born in different months of the same
aﬁa? W@mqﬁ:ﬁqﬁ year i.e., January, February, May, July, August, October,
a,m’ W,Wa‘ﬁ? November and December but not necessarily in the same

order.
R Three persons were born between R and N. Only two persons
ﬁ were born before M. Q was born after the month of August

AT in the month which has 31 days and sits opposite to N.
\"rﬁ? Both R and Q are not an immediate neighbor. P was born
before Q but not the eldest among all. P sits immediate
left of W but not sit at the middle side of the table.

X o
W%maﬁaa%afao_-{ One person sits between T and W, when counted to the
aﬁvwaiﬁ'ﬂwaq% right of T. T was born before W. O was born in the month

which has least number of days and sits 3rd to the left
: of T. The one who was born in the month which has 30 days
33‘" %IT,ﬁm'ﬁW is neither an immediate neighbor of T nor the one who was

mﬁﬁwwwam%| born in February. R was born just after the month of
%: q?ﬁ-.ra;-rﬁw November and immediate neighbor of O but doesn’t sit
’

El's'ﬁ L] aﬁ_gaﬂ_%l R opposite to T.
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Eight persons are seating around a square
table such a way that four of them sit at four
corners of the square while four sits in the
middle of each of the four sides. The persons
who sit at the corner sides of the table are
facing towards the center while the persons
who sit at middle side of the table are facing
outside from the center. They were born in
different months of the same year i.e.,
January, February, May, July, August, October,
November and December but not necessarily in
the same order.

Three persons were born between R and N. Only
two persons were born before M. Q was born
after the month of August in the month which
has 31 days and sits opposite to N. Both R and
Q are not an immediate neighbor. P was born
before Q but not the eldest among all. P sits
immediate left of W but not sit at the middle
side of the table. One person sits between T
and W, when counted to the right of T. T was
born before W. O was born in the month which
has least number of days and sits 3rd to the
left of T. The one who was born in the month
which has 30 days is neither an immediate
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MM How many persons were born between M and
Q, October Y 0,February R?
\& (a) Five
(b) Four
W, November €= R, December (c) Six
(d) Three
PAugmtT N,July ﬁﬁ& gﬂgng the following sits opposite to
- January the one who was born in February?
T o M N P Q W R Ei; gh h b in Octob
Jan>Feb>May>July>Aug>0ct>Nov>Dec o) B © one who was born 1h YCLober
C
(d) The one who was born 1n August
(e) None of these

Four of the following five are alike in a
certain way and hence they form a group.
Which one of the following does not belong to
that group?

(a) The one who was born in July

(b) O
(c) W
( )

The one who was born in August
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0,February Which of the following statement is true as
S per the given information?
(a) N sits 2nd to the left of O
W faces outside

W, November €= R, December (b)
(c) Both Q and M are an 1mmedilate neighbor
2 ‘L (d) R was the youngest among all
P,August N,July (e) All are true
T, January

T 0O M N P Q W R
Jan>Feb>May>July>Aug>0ct>Nov>Dec If O is related to P, M is related to T in
the same way W is related to which of the
following one?
) R
) P
) O
) The one who was born in July
) None of these

(a
(
(
(
(

® & Q O
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In certain coding language, the directions are coded as per below
conditions.
A@B means -
ASB means -

is North of B

is South of B

A#B means - is East of B

ASB means - is West of B

Example: A @ 14 B means A 1s north of B and the distance between A and
B 1s 14m.

Condition: D#100C, E%120D, H#130E, AS$120B, C@80B, GE@150H, K@1O0O0F,
KS$70G

>
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70m What is the total distance from Point C to
K G Point H?
C s D 100m (a) 250m
80m 150m (b) 350m
(c) 330m
B 120m (d) 300m
E 130m H (e) 220m
Four of the following five are alike in a
certain way and hence they form a group. Which
one of the following does not belong to that
group?
(a) A-C
(b) E-H
(c) B-D
F-G
D-K

120m

(d)
(e)
What is the direction of Point G with respect
to Point E?

(a) North-east

) South-east

)

)

North—-west
South—-west

(b
(c
(d
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Wﬁﬁ%\“mt{,ﬁ,ﬁ,ﬁ,iw,ﬁ, Six Couples i.e. A, B, C,.D, h.':, F, P,
an?,w,a"raﬁ?qjﬁqam-am Q_, R, S, T and U gét marr:_.ed in three
ﬁwmglm’m&ﬁ? different months viz. April, August
,quﬁ%wﬁﬁ and October, but not necessarily in
E.T.IEZGWT-GWTWWWW the same order. They get married on 2
%'aruf?rlsaﬁ?zs.wﬁﬁs’fﬁﬁm different dates viz. 5 and 28. Each
&1 AT B S-S dR Gl & gl g of the six couple get married on six
FPUfA SR Q Pl Ut & s dH Slie different dates.
fJarfea & 1R Q& UEA AT HRATRI C There are three couples get married
&1 18 T F ITY I H=AT 1ol IR between F’s husband and Q’'s Wife. R
1 83T YT £ P Ufd 3N B B U b oI get married before Q. C was married
E,':f ﬁﬂT%ﬁ%lEa?tIﬁﬁQﬂ?ﬂBﬂﬁ with T on an even numbered date.
uaﬁﬁue@re’raﬁ%nmqﬁmlo, There are two couples get married
SWWﬁr%Is%Wﬁ?ﬂgmﬁmﬁ between E’s husband and B’'s wife. E’s
“ﬁ?ﬁﬂﬂm,u %Wﬁf@fﬂ?ﬁﬁﬂﬁf husband get married before B’s wife.
Wﬁwaﬂm%w%”% T was not a male. D is the husband of
qﬁrﬁmpﬁqﬁaﬁw\%mm S. The number of couples get married
%I after S is same as the number of

couples get married before U’s
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Six Couples i.e. A, B, C, D, E, F, P,
Q, R, S, T and U get married in three
different months wviz. April, August
and October, but not necessarily in
the same order. They get married on 2
different dates viz. 5 and 28. Each
of the six couple get married on six
different dates.

There are three couples get married
between F’s husband and Q’'s Wife. R
get married before Q. C was married
with T on an even numbered date.
There are two couples get married
between E’s husband and B’'s wife. E’s
husband get married before B’'s wife.
T was not a male. D is the husband of
S. The number of couples get married
after S is same as the number of
“couples get married before U’s
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-

Husband

Months | Dates Wife
April 5 A F
28 D S
August 5 R E
28 C T
October 5 Q U
28 B P

How many couples get married before R’s
wife?

(a) Two

(b) Four

(c) Three

(d) Five

(e) None

Who among the following get married on 5th
October?

(a) O

(b) B

(c) U’s husband

(d) Either (a) or (c)

(e)

Both (a) and (c)
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Qll. On which date of the month did Harsh celebrated his Birthday?
I. Harsh correctly remembers that he celebrated his birthday on an even numbered date of the month.
Il. Harsh’s friend correctly remembers that he celebrated his birthday after 26th but before 30th of the
month.

Y 9 71 &1 fog aig &1 =T S=Afe {917 U172

1.3Y #1 S A 1 8 f6 I 3uAT S=afes 7811 &1 U IH =T dreil dRIG 61 H914T AT

%%ﬁaﬁ%ﬁm%%wﬁmwﬁqzam%mwwﬁﬁwmﬁ
AT AT

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is not
required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is not

required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the question

(e) If the data in the Statement | and Il together are necessary to answer the question



http://www.mahendras.org/

1 : 3 O FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727 /

Q12. How many marks did Saurabh scores in the hundred marks exam?
I. Saurabh scored two digits marks and his marks was completely divisible by 19.
Il. Saurabh scored more than sixty percent but less than ninety percent of total marks

I 3Pl Bl T & IR A fFaq 3 ure fre
?ﬁwﬁa’rm%wm%mwwﬁqﬁ a_e AusT 31
IRY = 918 ufara 9 siftre $d 3Dl & o Yfad d $H 3 Urd foe

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il
is not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement

| is not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the

question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Q13. Who among J, K, L, M and N is the shortest?
I. Jis shorter than K. M and N are not shorter than K.
Il. Lis shorter than K.

LK L M3 NT Y I9d BieT B 82
1.J, KA DICT2I M3 N, KA Bl A8 2|
2.L, K9 BT g

(a) If the data in Statement | is sufficient to answer the question while the data in Statement Il is
not required to answer the question

(b) If the data in Statement Il is sufficient to answer the question, while the data in Statement | is

not required to answer the question

(c) If the data in either Statement | alone or Statement Il alone is sufficient to answer the question

(d) If the data neither in Statement | nor in Statement Il together are sufficient to answer the

question

(e) If the data in the Statement | and Il together are necessary to answer the question
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Five friends K, L, M, N and O earn different salaries. N earns less than K and L. M earns less than
only one person. O earns more than only two persons. K earns 2 lakhs and is not the highest.

Qid SRA K, L, M, N 3% 0 3[A-3E T add FHTA 21 N, K 3R LY $H HHAI 21 M pdd
US Afd A $H HATAT 2| 0 Fad &l AfTal § 3P AT 21 K 2 AR HHTAT 8 3R

ST 61 §

Q14. What could be the salary of O?
(a) 1 lakhs (b) 1.5 lakhs (c) 1.75 lakhs (d) 2.5 lakhs (e) Less

than one lakhs

Q15. Who among the following earns lowest salary? (a) K
(b) L (c) O (d) N (e) None of the above
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Q16. Q17.

Statements: Statements:
W=>I>8S=D>0<M<F C>A<K<E=T<]=N
Conclusions: Conclusions:

L.D<W . N <K

[11.0<1 [I.A<]

(a) If only conclusion I follows. (a) If only conclusion I follows.

(b) If only conclusion II follows. (b) If only conclusion 11 follows.

(c) If either conclusion I or II follows. (c) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows. (d) If neither conclusion I nor II follows.
(e) If both conclusions [ and 11 follow. (e) If both conclusions I and II follow.

-
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Q18.

Statements:
P<Q<S=T<]<R>L
Conclusions:

.J=P

I. T<L

(a) If only conclusion I follows.

(b) If only conclusion II follows.

(c) If either conclusion I or Il follows.

(e) If both conclusions I and II follow.

(d) If neither conclusion I nor II follows.

Q109.

Statements:
K<I=TE<REZ>Y=2W
Conclusions:

I.Z>K

ILR>W

(a) If only conclusion I follows.

(b) If only conclusion Il follows.

(c) If either conclusion I or Il follows.
(d) If neither conclusion I nor Il follows.
(e) If both conclusions I and Il follow.
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Q20.
Statements:
T>0=2BzA=C=X>Q
Conclusions:
[. X0
[.LO=C
(a) If only conclusion I follows.
(b) If only conclusion II follows.
(¢) If either conclusion I or II follows.
(d) If neither conclusion I nor II follows.
(e) If both conclusions I and II follow.
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Point A is 16m to the East of Point B. Point D is 6m to the South of Point B. Point E is 4m to the North of Point
A. Point C lies exactlébetween Point A and Point B. Point G is 8m to the East of Point D

fige® e @ & He ez e & IR 4 Hiex
%éﬁg:aﬁvﬁﬁgl%mm %l%ls ggr&ﬂﬁsﬁﬂagv%?gmﬁz A%q%m 4T

Q21. In which direction is Point G with respect to Point E?
(a) North (b) Northeast (c) South (d) Southwest (e) Cannot
be determined

Q22. What is the shortest distance between Point G and
Point A? (a) 8m (b) 9m (c) 10m (d) 12m (e) None of these

Q23. If Point H is 8m to the West of Point E, then how far is
Point H from Point G? (a) 4m (b) 8m (c) 10m (d) 12m (e)
None of these
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In a family of seven members there are four female members. H is the mother of J. E is sister-in-law of H. L is
the only brother of E. M is the father of L. K is sister of J. N is mother-in-law of H.

ATd JeH| & Uh URAR & IR AfeT GG &1 H, ) PI AT 21 E, H P RIRCI-ZA-AT 21 L, E BT Shelidl
Y 81 M, LBTTUdT 81 K, ) P 98181 N, H B! 19 B

Q24. How is J related to E? (a) Niece (b) Nephew
(c) Sister (d) Brother (e) Either (a) or (b)

Q25. How is N related to K? (a) Aunt (b) Mother
(c) Grandmother (d) Daughter (e) Cannot be
determined

Q26. How is M related to H? (a) Uncle (b) Father
(c) Brother (d) Father-in-law (e) None of these
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Q27. If “summer is hot” is coded as “mo ka pa”, “may is summer” is coded as “ti ka mo”,
then “hot may” will be coded as?

gfe "gHR g1 gl Bl "Hl BT U & 7Y § his fHar 91 g, "H 5o JHR" &l "
mn‘r"%g?ﬁs%mw%,ﬁ"ﬁzﬁ"aﬁwaﬁsmﬁrﬂm

(a) ka mo (b) mo ti (c) pa ka (d) ti pa (e) Cannot be determined
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Q28. How many pairs of letters are there in the word” WINTER” which have as
many letters between them in the word as in alphabetical series?

%IE{“mmm&%ﬁfl&[ﬁ%ﬁ@f%ﬁgm?ﬁﬂ%‘qﬁﬂtﬁﬁﬁ&r&-r“\f%'ﬁrl?ler

(a) One (b) Two (c) Three (d) Four (e) None of these
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Q29. If all the alphabets are rearranged within itself as they appear in the English dictionary
in the word “TELEPHONIC” then which of the following will be third to the left of eighth

from the left end?

gfe TGl e hI A "TELEPHONIC" Weg T T 31&R 3= 3Ty H FIfRUd 8l ¥d §,
oI FgferiRad § @ &9 910 SR ¥ 313d & 918 | <RI g2

(a) H (b) I (c) L (d) N (e) None of these
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Q30. Find the odd one out?
(a)ACE

(b) FHJ

(c) KMO

(d) PQT

(e) UWY
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Seven persons M, N, O, P, Q, R and S like different movies viz.
Dangal, Dabangg, Veer-Zara, Gangajal, Airlift, Ram-Leela and
Barfi. All of them like different channels viz. Colors, Zee, Sony,
Star plus, HBO, MTV and UTV(but not necessarily in the same
order). P likes Veer-Zara. O likes Sony Channel. The one who
likes Ram-Leela likes HBO. Q likes Gangajal movie but does not
likes Colors or Star plus. The one who likes Veer-Zara likes
channel Zee. S likes Barfi but does not like Colors channel. R
likes UTV but does not like Dangal. M likes movie Dabangg.

Ard AT M, N, 0, P, Q, R 3R s 3eNT-3eRT flhed gvig Hvd @
YT | &I, T, dR-SIRT, TToTd, TR, IMH-ofdT 3NR 9w |
wqggaﬁmﬂ-&mag?ﬁm%ﬁﬁlmﬁgggﬂwﬁ
Wy, . THEIT 3R gldl (Afe st B
a’f)lpﬁé’l?-ﬁrmm%mﬁ;(ﬁﬁ%wm%lagmﬁrm
- ier UG © 9 Tadia UHg g | Q B e fhea WRig ®
Afp FaH AT TR W TG el 6 | 98 Afad ford dR-9IRT u¥e
2, I o TRig FeT 8| 5 P} TB UNG § Afpe] Hori 91e1 UNig
Hﬁ%éaﬁqﬁam%ﬁ%mmﬂﬁ%mﬁﬁmm
Tac |
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;Ersnn ::bt:egg E:;‘:‘“' Q31. Who among the following likes movie Ram-
N Ram-Leela HBO LeEIa? (a) M (b) N (C) R (d) O (e) None Of these

0 Dangal Sony

P Veer-Zara Zee

: e iy Q32. Who among the following likes channel

S Barh Star plus Star plus? (a) The one who likes Dabangg (b) N

(c) The one who likes Airlift (d) The one who
likes Barfi (e) None of these

Q33. Who among the following likes MTV? (a) P
(b) S (c) The one who likes Gangajal (d) The one

who likes Dabangg (e) None of these

=i
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Person Movie Channel Q34. Which of the following statement is true?
M Dabangg Colors (a)O likes movie Ram-Leela

. z:;;‘l“l“ :ji (b) S likes channel MTV

5 Veer7am e (c) The one who likes Dabangg likes Colors

Q Gangajal MTV channel

R Alriih UTv (d) The one who likes Airlift likes channel Star
S Barfi Star plus plUS

(e) None is true

Q35. Which among the following combination is
correct?

(a)M - HBO

(b) R— Ram-Leela
(c) Gangajal - Colors

(d) All are true
(e) None is true |
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